Summary Report of The Flood Relief Activities Carried Out by 'QAU Flood Relief Cell'

(August 14, 2010 to September 10, 2010)

1. Funds Statement

i. Funds Collected till September 10, 2010:

Monetary Donations: **820,700** (eight hundred, twenty thousand & seven hundred)

Food Donations (including other kitchen items): **132,000** (one hundred and thirty two thousands)

We got a huge bulk of garments, household textiles and shoes. It consisted of more than 2000 suits, 40 pairs of shoe and few bed sheets / blankets. All were scrutinized by our volunteers (a group of 8 girls). After scrutiny they rejected almost 10 percent items and found that almost 20 percent suits / wearing sheets are unused*. The unused items and first-rated items were distributed. The minimum estimated value of distributed garments, shoes and household textiles is more than **one million**.

Gross Value of all donations: 19,52,700 (1.9527 million rupees)

ii. Expenditures till September 10, 2010:

Monetary Donations: 680,763 (six hundred, eighty thousands, seven and sixty three rupees)

Food Donations: 132,000 (one hundred and thirty two thousands)

Minimum Estimated value of distributed garments / household textiles: 1000,000 (one million rupees)

Gross Value of amount distributed: 1812,763 (1.812763 million rupees)

iii. Funds available with 'QAU Flood Relief Cell' on September 10, 2010:

139,937 (one hundred, thirty nine thousands, nine hundred and thirty seven rupees)

^{*} Later on the discarded stuff was also distributed in village Sanawan.

2. Detail of In kind Donations

i. In kind Donations (except garments and household textiles)

Commodity	From a Masjid (F-5)	Others
Wheat Flour	465 kg	105 kg
Rice	193 kg	165 kg
Sugar	278 kg	8 kg
Channa	59 kg	4 kg
Masoor	31 kg	1 kg
Masoor (whole)	25 kg	1 kg
Massh (white)	5 kg	1 kg
Lobia	28 kg	2 kg
Moong	19 kg	
Channa (white)	10 kg	
Channa (black)	8 kg	
Baisan	1kg	
Cooking Oil / Ghee (1 lit. or equivalent)	105 lit.	1 lit
Fried Channa	38 kg	2 kg
Nido Dry Milk / Everyday (400 gram or equivalent)	36	30
Dates	50 kg	2 kg
Biscuits (tiki-pack)	342 approx.	
Half Roll Biscuits	65	
Salt	49 kg	2 kg
Chillie (200 / 250 grams)	18	3
Other Masala (200 / 250 grams)	28	
Tea (small packet)	102	10
Tang (400 gram or equivalent)	35	10
Match Sticks	135	
Milk / Trang (lit pack or equivalent)	92.25 lit.	
Amrat Colla (250 ml)	100	
Sovean (noodles)	30	
Tomato paste	10	
Pickle	13	
Fried Onion	10	
Nestle Miniral Water (1.5 lit)	37	
Nestle Miniral Water (250 ml)	52	
pasta	3 packets	
Rusk	5 packets	
Bread (large)	1 packet	
Sagodana	100 grams	
Bath Soap	122	
Cloth Soap	30	
Surf Excel (half k.g.)	5	
Plastic Plates	48	
Plastic Glass	49	
Cooking Pan		
Used crockery	3	
	-	2
ORS Candles		2 48

Estimated Monetary value of these donations: Rupees 132,000 (one hundred and thirty two thousands rupees)*

Estimated Monetary value of Suits and Household textiles: Rupees 1000,000 (one million rupees)

*Note: The monetary value of all food items was calculated at the 'Ramzan-package prices of Utility Stores'. The quantity of other in kind donations is already given on page 1.

Gross Value of amount distributed: 1132,000 (1.132 million rupees)

3. Details of Distribution

Total Consignments: 5

Families Covered: 508 (five hundred and eight)

Regions Covered:

1. Charsada: 94+1 families,

2. Kot Adhu: 120 families,

3. Lahiya (Village Sanawan): 115 families

4. D.G. Khan (Jhok Utra Moza: Malkani Kalan and Ghazi Ghat): 115 families

5. Jampur: 63 families

Goods Distributed

Consignment: 1, (Charsada, 94+1 Families)

Details of a Family Bag

Wheat Flour (10 kg pack)	 Dates (half kg Packet) 	Soap (3 Packets)
• Rice (2 kg Packet)	• Fried Channa (1 kg Packet)	 Match Sticks (2 Packet)
Sugar (3 kg Packet)	• Half Roll Biscuits (1 Packet)	• ORS (2 Packets)
Lobia / Massh / etc (1 kg Packet)	 Amrat Colla (250 ml) 	 Stitched Suits, (4, suits)
Cooking Oil / Ghee (1 kg Packet)	Salt (1 kg Packet)	• Plastic Glass (1 Piece)
Dry Milk (half kg / 400 grams Packet)	• Chillie (250 grams)	• Plastic Bowl (1 Piece)
Milk Pack (3 packets, qr. Liter each)	• Tea (200 grams)	• Plastic Plate (1 or 2 Piece)
Channa / Masoor / W.Channa (1 kg Packet)	• Tang (400 grams)	
Water Bottle / Jerry Cann (20 Lit. Capacity)	Other Masala (250 grams)	

Consignments: 2 – 5, (Kot Adhu, Lahiya, D.G. Khan and Jampur, 413 Families)

Details of a Family Bag

Sugar (2 kg Packet)	Salt (1 kg Packet)
Channa (1 kg Packet)	 Other Masala (250 grams)
• Half Roll Biscuits (2 • Packets)	 Chillie (200 / 250 grams)
 Fried Channa (1 kg Packet) 	 Stitched Suits, (2, suits)
 Dates (half kg Packet) 	 Match Sticks (1 Packet)
Soap (3 Packets)	• ORS (2 Packets)
• Tea (200 / 250 grams)	
	 Channa (1 kg Packet) Half Roll Biscuits (2 • Packets) Fried Channa (1 kg Packet) Dates (half kg Packet) Soap (3 Packets)

Note: A bulk of blankets, bed sheets and stitched dress was randomly distributed among flood victims placed on sides of roads in Southern Punjab. In consignment 2 -5, 34 bags were without dates, 124 bags were without dry milk and 77 bags were without fried channa.

3a. Details of Consignment 1 (Charsada)

Commodity	Donation	Purch	Market				
	Quantity	Price	Quantity	Value			
Wheat Flour (10 kg pack)		285	100	28500			
Rice (2 kg Packet)	96.5	160	3.5	560			
Sugar (3 kg Packet)	91.66	228	8.33	1899.2			
Channa / Masoor / W.Channa (1 kg Packet)	100						
Lobia / Massh / etc (1 kg Packet)	85	115	15	1725			
Cooking Oil / Ghee (1 kg Packet)	100						
Fried Channa (1 kg Packet)	38	100	62	6200			
Dry Milk (half kg / 400 grams Packet)	35	170	65	11050			
Dates (half kg Packet)	81	55	19	1045			
Half Roll Biscuits (1 Packet)	100						
Soap (3 Packets)	40	32	60	1920			
Salt (1 kg Packet)	49	6.5	51	331.5			
Chillie (250 grams)	18	42.5	82	3485			
Other Masala (250 grams)	25	67.5	75	5062.5			
Tea (small packets)	100						
Tang (400 grams)	35	104	65	6760			
Match Sticks (2 Packet)	68	2	32	64			
ORS (2 Packets)	0	9	100	900			
Milk Pack (3 packets, qr. Liter each)	100						
Plastic Glass (1 Piece)	16	8	84	672			
Plastic Bowl (1 Piece)		17	100	1700			
Plastic Plate (1 or 2 Piece)	49	8	100	800			
Water Bottle / Jerry Cann (20 Lit. Capacity)		138.4	100	13840			
Amrat Colla (250 ml)	100						
Total Expenditure on G	oods purcha	ased fro	m market:	86514			
Other Expenditures							
Transport (Taxi Nankari Bazar to Sabsi Mandi, Sabsi Ma	ndi to QAU)			450			
Loading				600			
Toll Tax (Motor way)				520 600			
2 Banners (for Bus of QAU)							
Loud speaker (for three days, used for the collection of donations in city)							
Number Stamp (for donation slips) Donation Slips							
Volenteer cards (twenty plastic cards with strips)							
Shopping Bags				200 1500			
Packing Rope		20					
	Total of O	5450					
Total Expenditures of Consignment - 1 (Charsada, 100 bags):							

Random distributions in 1st Consignment

380 stitched suits

48 packets Trang milk (250 ml)

37 Nestle Water (1.5 lit)

52 Nestle water (52 lit)

1 packet sagodana (100 grams)

In Charsada 94 bags were distributed. One of the remaining bags was given to a flood victim in Islamabad (he migrated to Islamabad with his family due to flood) while other five were distributed in Southern Punjab

3b. Details of Consignment 2 (408 Bags, Southern Punjab)													
Commodity	Donated	ated Utility Store		Market - 2				Market - 3			Expenditures		
	Quantity	Price	Quantity	Value	Price	Quantity	Value	Price	Quantity	Value	Av Price	Quantity	Value
Wheat Flour (10 kg pack)	57	180	86	15480	285	240	68400	215	25	5375	254.29	351	89255
Rice (5 kg Packet)	33	315	375	118125							315	375	118125
Sugar* (2 kg Packet)	4	110	334	36740	159	80	12720				119.47	414	49460
Channa (1 kg Packet)	4	56	404	22624							56	404	22624
Lobia / Masoor / etc (1 kg Packet)	5	82	403	33046							82.00	403	33046
Cooking Oil / Ghee (1 kg Packet)	6	103	354	36462	110	48	5280				103.84	402	41742
Fried Channa* (1 kg Packet)	2	110	9	990	85	160	13600	100	160	16000	92.98	329	30590
Dry Milk* (half kg / 400 grams Packet)	30	191	50	9550	170	200	34000	200	4	800	174.61	254	44350
Dates* (half kg Packet)	4	44	370	16280							44.00	370	16280
Half Roll Biscuits (2 Packets)	10	12	17	204	16	360	5760	23	21	483	16.20	398	6447
Soap (3 Packets)	2	40	56	2240	32	350	11200				33.10	406	13440
Salt (1 kg Packet)	2	12	162	1944	6	144	864	2.5	100	250	7.53	406	3058
Chillie (200 / 250 grams)		49	208	10192	34	200	6800			0	41.65	408	16992
Other Masala (100 / 250 grams)		33.5	208	6968	27.5	200	5500			0	30.56	408	12468
Tea (200 / 250 grams)	12	87	196	17052	95	200	19000			0	91.04	396	36052
Tang / Fruiti (small)	10	55	370	20350	106	28	2968			0	58.59	398	23318
Match Sticks (1 Packet)	20	1	388	388			0			0	1.00	388	388
ORS (2 Packets)	2			0	9	406	3654			0	9.00	406	3654
Towels* (1 each for 300 families)					37.5	300	11250				37.50	300	11250
										Expe	nditure on	Goods:	57,2539
Other Expenditures													
Bags for Final Packing		7	140	980	7	260	1820						2800
Shopping Bags					170	15	2550						2550
Packing Rope					20	1	20						20
Donation Box for Masjid (a donation box was place	ed in mosque, its p	acking and	lock cost is me	entioned			100						100
4 Banners (for buses of QAU)													2200
Food Expenditure (for volunteers in Southern Pr	unjab)	ē			ī			ī					4500
Two Door Locks													50
Transport Charges													
Two coasters in Sanawan							3000						3000
2. Rawalpindi Loading							100						100
3. Wheat Flour Loading							100						100
5. Toll Tax							840						840
										Other Expenditures:			16,260
				_	Total	Expenditu	res on C	Consign	nment -2 (Southern	Punjab,	408 bags)	588,799
*20 kg a graph is still undistributed 24 have your without dates 40.4 have your without during 111. 77 have your without fried about													

^{* 20} kg sugar is still undistributed, 34 bags were without dates, 124 bags were without dry milk, 77 bags were without fried channa. Page 5 of 6, Summary Report by 'QAU Flood Relief Cell'

Random Distributions in 2nd Consignments

826 stitched suits (along with family bags)

70 blankets / Bed sheets (in Jhok Utra)

13 Pickle bottles

10 Tomato Ketchup

30 Sovean

10 Fried Onion

1 kg Baisan

12 Packets Lectogen Milk Powder

48 candles

More than 300 stitched suits, few bed sheets etc (on road side)

408 bags were compiled for Southern Punjab and 5 undistributed bags of Charsada were also distributed in Southern Punjab. So in all 413 bags were distributed in Southern Punjab

4. The Working Body

- 'QAU Flood Relief Cell' was a joint venture of the students, Academic Staff Association and other employees of Quaid-i-Azam University, Islamabad.
- The working body of 'QAU Flood Relief' comprised of the current students and ex-students of Quaid-i-Azam University.
- Students of Economics, Electronics, Bio-chemistry, Animal Sciences, DSS, Statistics, Administrative Sciences, International Relations and Gender studies participated in relief activities under the umbrella of 'QAU Flood Relief Cell'

5. Formation of QAU Welfare Society

We appreciate the efforts of all who worked for 'QAU Flood Relief Cell'. It's the devotion of all volunteers that 'QAU Flood Relief Cell' successfully played its role to help out few victims of flood. We are grateful to our worthy Vice Chancellor, Dr M. Masoom Yasinzai who supported us in the noble cause. He was kind enough to provide us university busses for the collection of funds in Islamabad and for the distribution of goods in Charsada and Southern Punjab.

It's the encouragement of Honourable Vice Chancellor, support of all faculty members and motivation of students that we plan to continue our efforts by forming 'QAU Welfare Society'. The society shall work under the patronage of respected Vice Chancellor and its advisory board comprises of a group of teachers. It shall work for the welfare of its community on regular basis, such as financial assistantship to the needy students, blood donation in case of emergency, to work as volunteer in case of, Allah forbid, any natural disaster and to provide welfare services to its community.

6. Transfer of Funds to 'QAU Welfare Society'

As mentioned on page1 that 139,937 (one hundred, thirty nine thousands, nine hundred and thirty seven rupees) were unutilized by 'QAU Flood Relief Cell'. This amount is transferred in the bank account of 'QAU Welfare Society' (A/C: 02947900453203). Now we plan to use this amount for the financial assistantship of students belonging to flood affected families.

It is the beginning. Come forward, join us, we together can serve the sorrowful and deprived persons of our society.

Generosity Generates Good Society

Thanks.

The Working Body
QAU Flood Relief Cell